NOTE_1: THE DOOR MUST BE INSTALLED
WITH ETHER AN ELECTRONIC OPERATOR OR
A LOCKING DEVICE. AlL DOORS W/G
QPERATOR MUST HAVE LOCK(S) THAT

39 GA END SHLES -

GPTOMM, DSS GLASS
UIE SECTION
(SEE SECTION 8-8)

ATTACHED W/POP RIVETS 19 GA CENTER STLES

AND {3} COLUMNS OF
INTERMEDWATE HINGES.

ENGAGE BOTH TRACKS. .
NOTE 2: TEST PERFORMED TG ASTM E330 .

AND ANSH/DASMA 108-2002 . 7

DESIGN PRESSURE +22.0/-24.5 . = A . - L .
JEST PRESSURE +38.2/ —38.% i il 7| & i if B [E]5: Bi 4 | <

; THE DESIGN OF THE SUPPORTING

;—m AT & T il 3 L T TR

STRUCTURAL ELEMENTS SHALL BE THE

(4) 174" 5/8" SHEET METAL SCREWS PER HINGE

C--CHANNEL - B
20 GA. GALV. STERL
MIN. YIELD STRENGTH : S0KSI

]

" HINGE DETAIL

RESPONSIBILITY OF THE PROFESSIONAL OF

Iln——1

“(OFTIONAL) 1§ DENSITY POLYSTYRENE
-FOAM INSULATION - 1-5/167 THICK
WITH VINYL. HAIRCELL BACKER.

!
[
i

017 M. GALV. STEEL SKIN. —\

TONGUE AND GROOVE JOINTS

N

12 GA. GALY. STEEL TOP ROLLER ERACKET.
EACH BRACKET ATTACHED WITH {4) 1/4" x
5/8" SHEET METAL SCREWS AND W/(1) 1/4
TEK. ADDED THRU SLIDER.

ONE 4"X 2 1/2" X 5/8" UP .057 50KSI
C—~CHANNEL PER DOCR SECTION.

SEE END HINGE DETAL

1—1/4" WIDE MiN. X .057 GALV. STRAP.
{5) PER SECTION (B STRAPS PER LOCK
SECTION. ATTACHED W/(3) 1/4" X 3/47
SELF TAPPING SCREWS (TWOQ SCREWS 10
DOOR, AND ONE SCREW TO C—CHANNEL.

13 GA. BOTTOM BRACKET
ATTACHED WITH {4) 1/4" X
5/8" SHEET METAL SCREWS.

ALUMINUM EXTRUSION &
VINYL WEATHERSTRIP.

QPENING HEIGHT

411 Lﬁ.rr.ﬂ,; 5295:-

\JB-.? =

{05

SECTION A—A

&
FRAME FRONT

- EL MOLDED INSID!

LITE REJAINER

——D3B GLASS

SECTICN B—B

DoorLink : Manufactunng Co., Inc
11501 Taney' Ave.
North Kansas Cit

, Missour1 64116 dOOIL 2

WIND LOAD RATED RESIDENTIAL DOOR
MODELS:
510, 51 1,410,411,430,431,450,451,4/0, 47']

|‘a Bk
RECORD FOR THE BUYDING DR STRUCTURE- E i ‘ ﬁi’ J!I ﬁﬂ! |i] |!||
AND N ACCORDANCE WITH CURRENT | i z T 5
BUILDING CODES FOR THE LOADS LISTED - o - I IO
ON THIS DRAWING. GUIDELINES FOR THE & ow ;
JAMB CONSTRUCTION ARE CONTAINED N g 5 o __
TECHNICAL DATA SHEETS TDS—156 AND =z _
TDS—161 AT .WWW.DASMA.COM “é r B T . ONE 4" X 2—1/2" X 5/8"LP
9 . _ F|:|| L X 057 50KS| C—CHANNEL
OTE—t: A i PER SECTION
- DOGRS UP TO 7'—0" HIGH CONSIST OF {4) - —— _
SECTIONS (SHOWN)_ - - ]
DOORS OVER B'—0" HIGH CONSIST OF (5) It - il W '"I I'" L}
SECTWONS {NOT SHOWN) i = I ST r;
MAX DOOR HEIGHT=12'W/NO SECTION /]
EXCEEDING 21”
: A
MAY, DOOR WIDTH = 18
INSIDE EIEVATION
. STOP MOULDING BY DOOR INSTALLER TO
PROVIDE AT LEAST 1/4" OVERLAP
HORIZONTAL TRACK SUPFORT
BY DOOR INSTALLER {TO SUM) ,
2%6 #2 SPRUCE—PINE-FIR JAMB |>< |
. ’ -
13 GA. GALV. STEEL FLAG BRACKET. 12 GA. GALY. STEEL TRACK BRACKET ' J[
ATTACHED TO TRACK W/1/4" TRACK BOLTS FASTENED TO WOOD JAMS WITH ONE 5/16 ! ‘
- AND RVETS X 1-5/8" WOOD tAG SCREW PER BRACKET 18 GA. MIN, GALY. STEEL INTERMEDIATE
EACH FASTENED TO WOOD JAMB WITH (3) ) HINGE FASTENED TO INSIDE STILE W/(4)
5/18" X 1-5/8" WOOD LAG SCREWS EACH 1/4* X 5/8" SHEET MEJAL SCREWS,
M 2" GALV, STEFL TRACK FASTENED
O 12 GA. GALY. STEEL TRACK
TRACK CONFIGURATION BRACKETS, EACH ATTACHED WITH -
- ONE 1/4°X 5/8" BOLT & NUT OR (2)14 GA GALY. STEEL ROLLER HINGES
— . TWO 1/4" DIA. RIVETS. FASTENED TO END STILES W/{4) EACH
L 3 2" GALV. STEEL TRACK NOTE: DOUBLE TRACK 1/4" X 5/B" SHEET METAL SCREWS.
. TRACK THICKNESS 0.055 LOW HEADROOM IS - : i
AVAILABLE AS AN OPTION 2" DIA. LONG STEM, 10 BALL STEEL
= _ ROLLER.
/ ' {4)-2 1/2 X 120GA GALV, STEEL TRACK JAMB CONFIGURATION
713 NOTE, BRACKEY LOGATIONS ARE 3" SECTION C=C
: : {PREPARATION OF JAMBS BY OTHERS)
¥ N
T wl cantiiieg, :
ey GAgne,
Professional Engineers sedl RS -'°“=°- %
t 2 I
provided only for verification of windlogd - Q‘?‘FQB va ;\ QFES SIOM,‘(‘"* e s,
ey T -
construction details. _.--_"‘-‘.? io';{? & :{?? % .
‘ g i z: 2
= 8 hnC s =
Z 2 No23448 g =
= % § =T
L d =
EX JS &g
A o
%, & &
o

DRAWN BY: GDR

SIZE DRAWING NO. REV.
18 -0'X 70 RO18A—120

APPROVED BY:

SCALE: N/A 120 MPH WR |SHEET 1 OF




